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OHF X &= 5,512,000&  1CH 5,512
OJASEFTUZE MESZ
70,000& = 3H « 12012 2,520
204 X2 LAY 4,800 5,400 A 600
03 EZ YA 4,800 5,400 A 600
ONSEE 100,000& = 3% » 1204 & 3,600
oo EsH(Ead )
50,000 = 2 = 120 & 1,200




2N 2ES
M XA
el B EX (el @2)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HEgHY=HRFA 1,000 900 100
202 O4dl 1,000 900 100
01 = LH 4 1l 1,000 900 100
OHM e HE =0t 1,000, 000& 1,000
FA2E2el 57,916 88,680 A 30,764
201 Let2d] 41,936 47,600 A5,664
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Fostard o el (2s:dd)
A ZE a9 (3) - HRAY - By Ol &+ o4 SSa HmEET
-HIleegEEsE 3,370,000& = 6.55% 221
=23 112,493,000& * 4.5% 5,063
-NESE 112,493,000& * 1.5% 1,688
—MIHEE 112,493,000& * 3.2% 3,600
201 LBH2EH| 375 532 A 157
02 =224l 375 532 A 157
OSRFU(H=21) 1,875& = 1002lEH 23l 375
206 M= Hl 33,000 21,000 12,000
01 MHZ 4l 33,000 21,000 12,000
+2 EHYM %R 7Y
2,000,000 = 23] 4,000
O+2 2AFA AH 7Y
5,000& = 5,000 = 13l 25,000
O0rdgt & 2522 HEs 7Y
2,000,000& = 23] 4,000
401 Al HIZ 201 8] 541,430 410,097 131,333
01 A& HI 541,430 410,097 131,333
OM1IME - B =XS =22 (22 29H
& Q2 4700 A) 238,400
OB, =Y 42D L Altl
18,000& * 8,000 144,000
O==2(22)dz¥xY
600& = 37,000m * 23| 44,400
OIDASHA & A 25,000,000 * 23] 50,000
OR2uaE - B =XS =522 (2340
2 2 140A) 76,000
038, =AU ==2(u=8)d¥ =Y
18,000& = 2,000 36,000
O== AlH| 2,000& = 5,000 * 13 10,000
O==2(23)d3xy
600& = 25,000m * 23] 30,000
O2+AE(UIBEL HEE2S)EASYH - 2
e B 3 800,000& * 34 * 63l 14,400
OZ&, 2% S 4L ANEE(SAHAMLE, AX
S)s X2zl 2,000,000& 540 2 108,000
OZEUIA(HIE M, LH2h) 2
500m" = 40,000& 20,000
OZ33 Bsst&E |FX2e 32,000
O3 SSHEA(7THA)
2,000,000& * 7)HA = 23 28,000
Oz2tol st & A (200 4)
1,000,000& * 2044 * 23] 4,000
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(412,658m 4= F) 453,038
O M AT (&) 2403 * 336,000m * 33| 241,920
OTCI 2| (Seeding Xl & L &)
140& = 373,031m" = 33| 156,674
OM=(&=2 &« JI2=%)
540& = 31,500m" * 33| 51,030
OALMZ2 Y| (E2D])
140& * 8,127m = 33| 3,414
OHM2AE - B =XS M= & XCBIALY
(98,489.5m 20H =) 120,637
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1492 * 86,801.5m" * 33| 38,801
OM=(2=2 & JI2%)
547+ 11,688m" * 33| 19,181
03 Al 20| 4,131 3,077 1,054
OM1atH - B =X & MEx & &CZI] Al
A 20| 453,038,000 « 0.72/100 3,262
OHM2atH - B2 =sXS HxE L KO A
A 2] 120,637,000 = 0.72/100 869
ANESH 22 8,340 6,472 1,868
201 LBt | 8,340 6,472 1,868
01 AP 22| H| 240 360 AN 120
OFHJIFZE =1 120,000 = 29H 240
02 E32g%H| 8,100 6,112 1,988
OIS MAHZ2U2S 780,000 = 1CH 780
O#AX S SHIMWHNELS
60,000 * 10§ = 23l 120
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600,000& = 12JHE ~ 104 7,200
e | 72,600 42,500 30,100
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206 = Hl 9,000 5,100 3,900
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ONM&ZY M- 9,000
OM&s gatzs 7 12,000& » 500 6,000
ONM&s 2 2 15,000& = 200m 3,000
CHaHS 26,400 26,000 400
201 Let249] 26,400 26,000 400
01 At 22l 26,400 26,000 400
OUEI) SHHIGE FHBY 242(12/5
AlZH D1 &) 26,400
O (MNEZ/RFU)
100,000& = 104 = 110 11,000
oole 70,000 = 2¢1 * 110 15,400
CEZANEESF A2 152,851 531,605 N 378,754
401 Al HIZ 201 I 152,851 531,605 A 378,754
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OBAMYEN 2t AKX BLEH U &2
&l 152,851
O#MME =2 Z22AXH A
18,667,000& = 3 =& 56,001
O#HAE =8 L WIUZE AALSFE2HEI(ZR
AT Y SEFLAR) 28,800
1,200& = 2,00000 * 12&2
O#AE MUETZ L AJA SE2B(IES
PEE) 4 1,700 = 55001 * 302 28,050
OEAE dgE2 22| & E2HA
2,000& = 10,000m * 23| 40,000
SITEMIAENN2ANE2E 267,303 248,876 18,427
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01 At 22l 62,654 57,600 5,054
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O&2J8&E+=+=2 150,000 * 3CH » 1204 & 5,400
OS2I HIB A==
130,000& » 3CH = 13 390
ORodH 9= 150,000& = 6CH » 1204 E 10,800
ONAHHEAAL==Z (T AIIEA)
160,000& * 13 160
OF=DJl&el gz 100,000& = 120 & 1,200
OstEAHE Pl 500,000& » 14042 7,000
osXzg2 228 A2F 2|
350,000& = 12003 4,200
oSN ALE B2AFY
1,600,000& = 1203 19,200
OZOHaEA HiO dEZ
16,000& = 1200 = 1203 2,304
02 =224l 194,649 185,412 9,237
oXIIRS 6,000,000& = 1201 & 72,000
O&ot=ER= 1,454,000& = 12013 17,448
ONARS3 1,200,000& = 1201 & 14,400
OH= =Xl 2,257& = 6,717m 15,161
O A& EHl s Xl 2,352,000& = 1201 & 28,224
O&FAZESH| 1,500,000 * 2% » 1204 & 36,000
o=2Y¥3aEL 700,000& * 23l 1,400
OSYZEANZNT HABE L7
32,000 = 313m’ 10,016
401 Al& Bl 28I 9,000 0 9,000
01 A& HI 9,000 0 9,000
OSZTEAMA=2 HetA o2 nHSA
180,000& * 50m’ 9,000
405 XHoHF S HI 1,000 0 1,000
01 MR EFHSE 1,000 0 1,000
ONE™" dEZHDI 500,000& * 27| 1,000
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101 1244 dl 47,556 35,175 12,381
4 D12t Z2XREES 47,556 35,175 12,381
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600,000 « 1CH 600
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OFEAXE Sl 5,000,000& « 2CH 10,000
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5,000,000& = 1CH 5,000
oMIDl SHEI &2Al CCTVE L 12,800
OeHY =23 100,000& * 4J0 4 * 1200 & 4,800
Ools4 xidl 1,000,000& » 4014 = 23] 8,000
206 M= Hl 3,840 1,800 2,040
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- 68,75 30,000& » 118 = 12743
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-NEEX YR LY
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30,000 = 59 « 1204 &
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a]
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68,521
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CETEE SN
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OF UG A 130,000& » 298 = 1201 & 3,120
O"HEF Y|
59,705,0009 * 1/12 * 60% * 23l 5,971
O ¢ It E 4|
59,705,000& * 1/12 = 1/30 * 86% » 11 1,569
03 RIAHAZZ2THE = 726,335
O0lst& ezl 726,335
OJles 1,534,240 = 169 » 1201 & 294,575
Oaoia 198,776
Olgag
1,854,240 * 50% * 43| » 169 59,336
-2+
1,854,240 * 50% * 23| » 169 29,668
-X & Sl
1,854,240& * 50% * 53| * 16Y 74,170
-BE SO
1,854,240& * 60% *» 23| * 16 35,602
OFSLECE= 54,000
-IESE 13,680
B < Xt 40,0003 * 132 = 12042 6,240
JIELE 20,000& = 3198 » 1201 & 7,440
ExgEY 90,000& = 169 = 12013 17,280
-“HAEEASY 70,0008 + 16Y * 120HE 13,440
B E=Et = P =]
50,000& = 1698 » 1201 & 9,600
O=cl=4dl 55,680
-Z gAY 160,000& = 1698 = 12013 30,720
-FEsg 50,000& » 16% = 1204 & 9,600
—PlMG 80,000& = 1698 » 1201 & 15,360
Oxzz2f=+¢ 111,155
A RI2R e
9,490& = 150% » 10AI2F » 169 » 1201 & 27,332
U224y
9,490& * 150% * 24Al12t » 16Y = 1201 & 65,595
~ARRIENLY
75,9503 * 16 = 15 18,228
OJIet=¢ 12,149
-NEHEHEESY 12,149
nsstu 433,880& * 7% x 42| 12,149
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02 &= E xH| 63,540 65,280 N 1,740
(OESF=3=E 4] 63,540
OFr=] 250,000& * 1 = 1201 & 3,000
o6z 155,000& = 129 * 1204 & 22,320
or2 140,000& » 7 = 1201 & 11,760
08z .9= 105,000 * 19% = 1204 & 23,940
OFHJAZH 105,000& = 29 = 120 & 2,520
Jl=23tl 219,957 256,944 N 36,987
Jl=2343Hl 219,957 256,944 N 36,987
201 LEt2 A Y| 102,372 93,264 9,108
01 At 22l Yl 80,292 72,336 7,956
OJI=2gd R AF | 28,860,000& 28,860
O 2| 19,656 ,000& 19,656
(OF=EE] 50,0003 * 3% x 117 17,550
O=E=E = M2 3,000,000 3,000
SR 1,476
O=2 X 15,000 * 38 = 12J4& 540
ORI K] 13,000& * 65 * 1294 & 936
oA &Hl 7 XYl 500,000& * 35CH = 1/2 8,750
OgREZTAMFALH] 500,000& * 204 A 1,000
02 35244l 22,080 20,928 1,152
oRWE2 22,080
Ogt 2403 = 4,5008 * 1201 & 12,960
O&II 1,900& * 400 * 1201 & 9,120
202 04 b 96,600 103,500 A 6,900
01 2LHOHI 96,600 2,700 93,900
©J|=&Hl 93,600,000 93,600
OsdEFA WY 3,000,000& 3,000
203 &R =&H| 14,200 13,175 1,025
01 J|22HLRF=AH| 7,900 7,505 395
os& 7,900,000& * 1Y 7,900
02 HRJAE R =&Y 1,560 1,404 156
OXJ A& & A H| 40,0003 * 399 1,560
04 EANSHLRF=AH| 4,740 4,266 474
ORANEIELERF=AH| 4,740
OJ&ENH 350,000& * 12J4 & 4,200
O=x=1H 5,000& =« 9H « 1204 & 540
204 &2 = ZF H| 3,600 3,600 0
01 MM R-HAY| 3,600 3,600 0
oOsS&EAMZ 150,000 + 19 « 1201 & 1,800
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OFQ XX HH2HH| 20,200
[OF PN = 320,000 = 5J1 = 12& 19,200
OCE22HMz & JIE 23| 1,000, 000& 1,000
OFQUXXHAS 3o &M
20,0003 * 2898 » 12& 6,720
03 A2 Z Hl 2,000 0 2,000
OFUXNXNEZZIHY HHS L MAS &EH S
2,000,000 2,000
SclEEsiE 172,580 172,580 0
301 L2 A= 172,580 172,580 0
05 S& -0 -2 172,580 172,580 0
OO0l Z &=l 167,280
OJdlex=4 200,000& = 51 128 122,400
o& o 3 200,000& = 51H « 23| 20,400
Oglasdgsdg
20,000& = 519 = 23| » 12& 24,480
otz 50,000& » 1069 5,300
X| o 518 2 58 ALK 2 3,000 2,700 300
201 Let24E] 3,000 2,700 300
03 A2 Z Hl 3,000 2,700 300
OXM H AIEO Ak 3,000,000& 3,000
g =8 A 21,847 21,641 206
101 1A bl 6,744 6,600 144
M4 IR Z22NSES 6,744 6,600 144
ogdA=s 02y 50,000& = 1¥ = 120 6,000
OJIZtHMZZHREZ 744
O30z 6,000,000& * 4.5% 270
OHLEE 6,000,000& * 2.995% 180
O®ILEH 180,000& * 6.55% 12
ons=sdg 6,000,000& * 1.5% 90
OtHEE 6,000,000& * 3.2% 192
201 €82l 13,289 13,339 A50
01 At 22/l 660 720 260
Oostz &eld Il=l 660
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2M: 501H
M XA
el B EX CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HEgHY=HRFA 2,200 2,100 100
202 O4dl 1,000 900 100
01 = LH 4 1l 1,000 900 100
OHMEH A= 0l 1,000, 000& 1,000
204 MR AH| 1,200 1,200 0
03 SHZRFH 1,200 1,200 0
oNegd 100,000& » 1H 128 1,200
FA2E 2 68,146 84,213 A 16,067
201 Let249] 68,146 63,603 4,543
01 At 22/l 3,000 3,056 A56
O2=+=XelAld A& 2teldl 250,0008 * 128 3,000
02 22224l 65,146 60,547 4,599
(ORSPIReE= 4,000,000& = 123 48,000
o4 -ot=ER3 300,000& = 12& 3,600
Ox+=AHE 600,000& * 13 600
OF=PN=F= Faltg=g=) 60,000& * 23l 120
OUFAL & AL LHEHH]
1,305& = 40L » 105 5,481
OFEA A2 KXl 1,210& = 2,500m 3,025
oIt AN += 260,000& = 123 3,120
OBM AEAE SEHELEH S
600,000& * 13l 600
OBM 2EAE HSIIsE8E S|
600,000& = 13l 600
KXl SO0 e 504,722 551,195 AN46,473
KIS0 A 504,722 551,195 A46,473
MEFHLAAS2FUSIALY 120,000 119,957 43
401 AIEHI L 2CHYI 120,000 119,957 43
01 A& HI 119,136 119,136 0
OMEFHARE FOUSXAY 119,136,000 119,136
03 AlZ 2 THHI 864 821 43
OMEFHARD FCUSTAY SOUH|
120,000,000& * 0.72% 864
FHEZHZELXILAY 4,722 5,482 AT760
101 @124l 3,572 3,412 160
04 JIZHHZ2Z2XNHESE S 3,572 3,412 160
OFREEH B2 X4 oY
44,6403 * 8Y » 10 3,572
206 M= Hl 1,150 2,070 A 920
01 =8l 1,150 2,070 2920
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?: XN A
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZZXZLEANY M=HI 1,150
OF—J= 2,000& » 5002 1,000
Ot Z(4E) 15,000& = 10 150
A E2FU=JAY 380,000 425,756 A 45,756
401 Al HIZ 201 8] 380,000 425,756 A 45,756
01 A& HI 380,000 425,000 A 45,000
O&H 12l ot2=FHISAH(L=120m,0.6%0.6)
15,000, 000& 15,000
O3tot2e] Or2et2 EHl 3 At(Hi === L=100m,0.6*
0.6, ZF14!) 20,000, 000& 20,000
osdel OtA2IAMR2I| 3 AHOFA 2 I Z=600M
,B=4.0m) 20,000, 000& 20,000
Ogotel s EZ &3 AH(EEL=250m,8=3.0m)
25,000, 000& 25,000
O05%el s Z&3AH(EEL=200,B=3.0m)
20,000, 000& 20,000
OUEe s=Z&3AH(EEL=200,B=3.0m)
20,000, 000& 20,000
OA&3e| OtA2RM RIS AHOIA 2 A (=600
m,B=4.0m) 20,000, 000& 20,000
O3st&22l a2 U3 AHL=120m,0.6%0.6)
15,000, 000 15,000
ouZ, 84, 20lXI7 T2 0= At2 (A=36,300m
10,000, 000& 10,000
,L=48. 4km)
O3022 =2 FHIEAH(=ZZ&B=3.0m,L=100m
S22 FH14]) 15,000, 000& 15,000
OEH22 =2 HHISAH(ES2EX(1.0%1.0)
L=120m) 20,000,000& 20,000
O3stot1el =2 L& B AH(=Z L &B=3.0m,L=180m
) 20,000, 000& 20,000
ORd1e =2EX &S AH(=Z X &B=3.0m,L=110m
) 15,000,000& 15,000
OFEM12l =2 bl = AHIHE 2 2 & XID=1200m
m,L=30m, i =2 = & 14]) 10,000, 000& 10,000
O8H32l sZAHFHISAH(SHEHSEIH=2.0
m,L=30m, s == 714]) 20,000, 000& 20,000
O&& 12l =2 FHI 3 M (=2 ZEB=3.0m,L=100m
L SEATESTR14]) 20,000,000& 20,000
otzZiel =2FHI3AM(=sZIH& B=3.0m,L=90m
JHH=2 ZHl 14 15,000, 000& 15,000
OF& e =2 X &S AH(=Z X &B=3.0m,L=180m
) 20,000, 000& 20,000
OEH22 OFAZ2HAM RIS AHOLA2E EB=3.0
~4.0m,L=300m) 20,000, 000& 20,000
OMHd22] OFAZ2HAM RIS AHOLA2E EB=3.0
~4.0m,L=300m) 20,000, 000& 20,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Odg2e] Aotd S22 a2 A (L=150m)
20,000, 000& 20,000
HY2AZHI (S01H) 1,048,861 1,034,013 14,848
ol 2 gl 947,053 935,823 11,230
ol 2AH| 947,053 935,823 11,230
101 @14 dl 918,373 904,443 13,930
01 2= 816,069 819,254 A 3,185
o== 559,223
O5=(30=8) 4,055,600& * 1% ~ 123 48,668
o= (2715 3) 3,453,300& » 598  12& 207,198
O7r=(1828) 2,766,900& » 6 » 128 199,217
0828z 8) 1,893,300& » 3¥ » 12&8 68,159
O9= (58 8) 1,499,200& » 294 » 128 35,981
N0 =g 67,152
o} -ERs-
559,223,000& * 1/12 * 50% » 23] 46,602
OFIZ=YHe3 12,360
-5 04 108012t 50,0008  1H * 12&8 600
-10@ 0l & 15 01 2t
60,0008 = 3¥ * 12& 2,160
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O824 FItit= 2,160
20101 & 24140/ 0t
10,000& = 3% = 128 360
-254@ 0] & 30,000& = 5% = 123 1,800
ORSFRE=E 6,030
52U
3,453,300% * 398 » 128 » 4.1% 5,098
-2l
1,893,300& » 18 « 1238 = 4.1% 932
ONAEHEY 16,663
ONs=¢ 9,720
—bH < Xt 40,0003 = 10¥ = 123 4,800
-JIEIHE 20,000 = 19 = 12& 4,560
AWM AE Jtatg 30,0008 + 1E + 128 360
OXEHSH ExY 6,943
-1Sshu 433,880& * 4% x 42| 6,943
OEx=22¥ 21,240
OE+=g2+8 21,240
=38+ 3,840
- 538 50,000& = 1& » 123 600
6= - 7= 30,000& = 5% = 123 1,800
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chel: ol 2y (S &2)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
CJEBESY JMZ(IISE - JIA
30,000& = 28 = 12& 720
- JIEBESY DM (A DAL
20,000& = 18 = 128 240
-QEYEsE 30,0003 = 2% ~ 123 720
-Hz2esd 70,000& * 17H = 128 14,280
“ARIEXER+E 70,0008 * 2% « 128 1,680
“ALSISXIAE AR S OHek=s
30,000% = 2% * 128 720
CES LRS-
8,930% « 17 * 30AI2t » 128 54,652
OZHZAHI 130,000& * 179 » 12& 26,520
O &= Oty|
559,223,000& * 1/12 = 60% » 23| 55,923
O It 2 &l
559,223,000& » 1/12 » 86% * 1/30 = 11 14,696
03 RIAHAZZ2 T+ 102,304 85,189 17,115
O0lste@ eIzt 102,304
OoJlzs 1,799,370& » 28 » 12&8 43,185
o&n= 23,314
-Jl2=g  2,119,370& = 50% * 42| 29 8,478
g2 2,119,370& * 50% * 23 * 29 4,239
-H=ESEl
2,119,370% = 50% * 53 * 29 10,597
Oodgd=¢ 7,440
s 960
il < Xt 40,0003 = 2Y% » 123 960
32 Itet=a 254018t
110,000& » 128 » 29H 2,640
SR 90,000& = 2% = 123 2,160
“A g g 70,000& = 2H = 12& 1,680
O=cl=4l 12,047
-H UG A 160,000& * 29 » 123 3,840
R R =y 80,000& = 2% = 123 1,920
g+ 50,000& = 28 = 12& 1,200
- & =0t
2,119,370& = 60% * 23 * 29 5,087
OxzH2Zf+E 16,318
-Al2tel =gt
10,7633 * 150% * 15A12t » 2FH * 12& 5,813
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053 250,000& = 1& = 123 3,000
O6= 155,000 * 59 » 123 9,300
o7s 140,000& » 6¥ » 128 10,080
O8z - 92 105,000 * 59 » 123 6,300
JlE3l 101,808 98,190 3,618
JlE2&l 101,808 98,190 3,618
201 L2l 44,128 35,196 8,932
01 At 22l 37,540 29,720 7,820
OJleg =gl 12,580,000& 12,580
o=l 7,000 = 178 = 80 = 90% 8,568
O gl 60,000& * 198 * 115¢ 6,900
(OF RS =—g=4 492
Oo=s&X 15,000& * 12 » 12& 180
OX X 13,000& = 22 = 123 312
Os=2= M= 3,000,000& 3,000
O¥EHITHIS X HI 500,000 = 22CH = 1/2 5,500
CgREEMT LI 500,000 500
02 =224l 6,588 5,476 1,112
oORER= 6,588
OgttsH 270 * 1,400 » 12& 4,536
oslsdH 1,900& = 90= » 123 2,052
202 4l 43,800 43,500 300
01 = LH YI 43,800 2,700 41,100
OJI&Z 40,800,000& 40,800
OHHF =0 3,000,000& 3,000
203 YR =2l 11,480 10,662 818
01 I 2L =8 6,600 6,270 330
o%HE 550,000& = 1& = 123 6,600
02 AP 2= 680 612 68
O&R A& FAH| 40,0002 = 17 680
04 FN2ILSFZ=AH 4,200 3,780 420
ORN2EYEF=AHI 350,000& = 123 4,200
204 X243 A Y| 2,400 2,400 0
01 ¥R 2,400 2,400 0
OHZEAMG 150,000& » 19¥ » 128 1,800
ORHFAMZ 50,000& = 1& ~ 123 600
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LS 646,612 720,343 AT3,731
=040 & M (RAS) 163,790 150,316 13,474
OrgCi2 Otsx4d 163,790 150,316 13,474

FolME XA 109,758 112,688 A 2,930
201 Let24dy] 9,062 9,062 0
01 At 2teltl 5,864 5,864 0

OFUSEYR FA(IIEZH) 3,500,000& 3,500
OYALS U AKX YXE
1,380,000& 1,380
oMER=R 984
OX X 13,0002 * 44 AL = 1228 624
Os&X 15,000& * 2J0HAL » 123 360
02 2324l 3,198 3,198 0
ogAE A=)l 562
O KXl 4,200,000 = 10% 420
O=&sH 1,969& = 34 = 243| 142
oOde+)| FA2el =2
13,200& 304 » 128 476
OZJIHFI RAZel Hg>>2
22,0003 = 504 ~ 123 1,320
Ol 28 sUHE N8R
70,0003 = 1CH ~ 123 840
206 M= Hl 5,126 5,556 A 430
01 =8l 5,126 5,556 A 430
OFFLA LYz 4B 5,126
O&EH 220,000& * 404 » 3& 2,640
SMEX 20,000& = 584 « 123 1,200
FUSESE=E X
26,000& = 324 « 123 936
OSsAgEX 70,000& * 52t~ 350
301 et a s 95,570 95,570 0
05 8% -0 -tHESE4S 87,850 87,850 0
osd=¢ 82,000
OJdles 200,000& = 259 » 123 60,000
Od0=
60,000,000& * 1 / 12 = 100% * 23 10,000
OsloFH g
20,0003 = 259 = 23 = 12& 12,000
ot =¢ 25,0003 = 1178 « 23| 5,850
09 SALAHIEA S 4,300 4,300 0
OAZ HAFZE AHE4 4,300,000 4,300
11IIEtEA S 3,420 3,420 0
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FAEE A 21,742 10,842 10,900
201 Let24d] 4,762 8,862 A 4,100
02 2324l 4,762 6,862 A 2,100
O A& & Hl =Xl 2,000,000 2,000
OH=EERNESE 2,213 « 1,248 2,762
307 glztol & 1,980 1,980 0
05 212t E = 1,980 1,980 0
ORAMIBHIAIAE 2AE 165,0008 * 12 1,980
401 AIEHIZL 2] 15,000 0 15,000
01 A& Hl 15,000 0 15,000
oYU 2L SA 15,000, 000& 15,000
FURNXAEEH 29 32,290 26,786 5,504
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- 9= 1,499,200& » 198 » 128 17,991
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Hosg
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OoJlezg 6,160& = 110kw » 128 8,132
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OB EY 132,000& » 304 396
OFFTH T= 2t WFEAY F&
100,000& * 53] 500
301 et A3z 228,680 221,720 6,960
058 -0 -tHESEHS 220,160 213,200 6,960
osd=+¢ 203,360
OoJles 200,000& * 629 * 12& 148,800
Oa0=
148,800,000& * 1/12 = 100% * 23l 24,800
OsloFH g
20,000& = 62% = 23| = 12& 29,760
ot =¢ 25,0003 = 3369Y =« 23l 16,800
09 SAAHIEAS 5,100 5,100 0
OAUZTHAFZ AHIS 4 5,100,000& 5,100
MIIEE43 3,420 3,420 0
OJIEtE &= 3,420
ONESBYIALSSAMA | 3,420,000& 3,420
FAEE HA 31,186 39,057 AT,871
201 L2l 20,186 24,057 A 3,871
01 At 22l 10,440 10,560 A 120
O=XNXNEZIH LUHAREY Xz
830,000& = 12& 9,960
OF2UXNXNEZZ IS LHuA HI| AAEZ
40,000& = 12& 480
02 23224l 9,746 13,497 A3,751
O&E A L&Y 4,309,000 4,309
O A& EHl s Xl 2,000,000 2,000
OFQUNXNEZZ Y LUHAIRA MRS
6,160& = 40Kw » 128 2,957
O=QNXNEZ Y dUMILY F=I| 22/
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OSUXIBHIAAE <& 3,000
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OFURNXME T2 03 AUHAMRA ZH
100,000& * 12& 1,200
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OAHY AU NS &X 8,000,000& * 14! 8,000
FURXHEEH 29 47,940 42,572 5,368
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01 At 22l 45,000 39,180
OFYUXXNEEHESY Jl&&Hl 2,400,000 2,400
OLcieDDl SU0E 40,0008 = 128 480
OxXNXNEZIH S HNIH MEZR
10,000& » 12 120
OFLXNXNEZ IS A=+ 36,000
OFUNXHEHSE A== 36,000
-2ena 15,000& * 20AI2t = 10E 3,000
-HEolg o 15,000& = 20AI2t = 103 3,000
—HEH A 15,000& » 20A12t = 102 3,000
= BMES 15,000& = 20AI2t = 103 3,000
~2JH#=)nA
15,000& = 20AI2t = 103 3,000
“QIHAE ) m A
15,000& = 20AI2t = 103 3,000
—L- QI XI OH Ol 2 1l &
15,000& = 20AI2t = 103 3,000
-SxAclna 15,000& = 20A12t = 1028 3,000
-—E=Sud 15,000& = 20AI2t = 103 3,000
-N Ol A 15,000& = 20A12t = 108 3,000
-AOIEES WA 15,000& = 20AI2t = 103 3,000
-t A M A 15,000& » 20AI2t = 10& 3,000
OFLUMAALE S HHLY
20,000 * 259% « 128 6,000
03 &AL2 I 2,000 0
OFQUXNXNEZ=ZOY LHS & MAIS =]
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405 XHoHF S HI 940 0
01 AL EZFH S 940 0
OSEINJI (U HAA)
440,000& = 14l 440
OMEE F(MUILA) 500,000& * 14l 500
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oI 244l 365,105 291,128 73,977
101 @124l 365,105 291,128 73,977
01 2=+ 365,105 291,128 73,977
oJles 274,244
OPIE--3= 253,148
- EHA 253,148
- 52 4,055,600& » 1% » 12&€ 48,668
- 62 3,453,300& * 1& » 128 41,440
= 2,766,900& * 3% » 123 99,609
- 82 1,893,300& » 2H » 12& 45,440
- 9= 1,499,200& » 198 » 128 17,991
Od0i= 21,096
g2+
253,148,000& = 1 /12 » 50% » 23] 21,096
o= 46,413
Oxzzfs+¢ 25,719
- EHA 8,930 * 8Y * 30AI2t * 128 25,719
OFSICL R, 20,694
-IExg 4,560
i < Xt 40,000& = 6H = 12& 2,880
- &5l 20,000& = 7¥ ~ 123 1,680
-AHEH xS 1,854
nsshy 463,300& * 18 « 43| 1,854
-2t 3 6,120
- 258014 130,000& » 2H » 128 3,120
- 5501 & ~104 0| Bt
50,0008 = 5% x 12& 3,000
Sxgf=E 8,160
QlEges=2 30,0008 * 398 123 1,080
S2R+E 70,0003 = 7% = 123 5,880
M EXNZRE
70,000& = 1" « 128 840
SR (MBI SR RA)INS
30,000& = 1H « 128 360
OFUZ A 130,000& * 8Y » 123 12,480
Og &=t
253,148,000& * 1/12 = 60% * 23| 25,315
O &I &l
253,148,000 » 86% * 1/12 = 1/30 = 11 6,653
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=24l 13,680 11,580 2,100
204 AR A H| 13,680 11,580 2,100
02 &g 2 Xl 13,680 11,580 2,100
Ob5= 250,000 = 1H = 12& 3,000
6= 155,000& » 1H » 128 1,860
o073 140,000& * 39 » 12& 5,040
©8=~9= 105,000& » 3H » 128 3,780
|23 bl 56,115 52,025 4,090
Jl234 56,115 52,025 4,090
201 2et24d] 27,555 25,369 2,186
01 At 2teltl 11,278 10,198 1,080
OJlege=ad 6,742,000 6,742
O=ZHI(J1E&HI) 4,536,000 4,536
02 =224l 16,277 15,171 1,106
oORERS 3,191
OBt 2703 * 5,000 1,350
OS2l 1,900& » 900 1,710
ogts= 1,630& » 80 131
oNIIR3 8,646
OoJlges 6,160& = 50kw » 128 3,696
Oxlg3 753 * 5,500kw » 12 4,950
OACIETVEZ 10,0003 = 2CH ~ 123 240
(ORI ENpPSEN 300,000& * 13 300
OFSkS = 20,000& = 1CH » 12& 240
OHNdt=ER3 30,000& * 12& 360
CIMERE S 30,000& = 23l 60
OAATFZE =2 600,000& * 12 600
odJIItE A== 120,000& * 123/ 1,440
(OF=PNEE=3=4 100,000& * 123l 1,200
202 oddl 16,800 14,976 1,824
01 24 0i bl 16,800 14,976 1,824
OJIE&l 16,200, 000& 16,200
ouggE SR ol
20,0003 = 1 = 32 = 103 600
203 YR =] 9,960 9,880 80
01 12 2Z YR8 6,600 6,600 0
OJ|&EH (ol 723001 2H) 6,600,000 6,600
02 A H R =X 360 280 80
OJZ=H (A2 100E NHAI) 40,000& = 99H 360
04 EA2IYRFLH 3,000 3,000 0
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SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
OJ= (M &1520/5tH) 250,000& = 12& 3,000
204 &R = A H| 1,800 1,800 0
01 MR- AY| 1,800 1,800 0
OJI=d (52| 22 150,000& * 12& 1,800
FOIHO & SA(2ES) 194,163 102,253 91,910
OrECt2 0I2Xx 4 194,163 102,253 91,910
FoIME T3 163,079 84,079 79,000
201 LEt2 A Y| 14,799 10,714 4,085
01 At 22l Yl 6,844 6,084 760
OFUSEAL2 =X (J|I=AHHIl) 3,500, 000& 3,500
OFQME HAE EBIZ2D] 7
30,000& = 30 * 43| 360
OF0MEH E22 N 2,000,000 2,000
ojE3=EaE 984
O=< X 15,000& * 2 AF = 128 360
O Xl X 13,000& * 4o AL x 128 624
02 35244l 7,955 4,630 3,325
ogd=z As)| 22 564
OSs Xt 4,220,000& * 10% 422
Owrs 1,969& * 3¢ = 243 142
03322 % MAM(XH) 4,351
O XS XA 27,000& * 104 27
SEEPEEE 25,0002 * 1H 25
OX2E eI (RBH, & &)
4,299,000& * 1CH 4,299
OO0IE Xt =Xl 2el 1,300
OolgExesgz 100,000& * 1CH 100
OO0IEXR X (RF4l,=4&Hl)
100,000& = 1CH = 128 1,200
ONXE A SAIBI 3,500,000 = 20H * 6% 420
ORAAAESI| R 2L
40,000& = 10H ~ 123 480
OJIAZEBSUHEMNSE 70,000 = 1CH ~ 12& 840
206 M = Hl 4,420 1,732
01 M= bl 4,420 1,732
OLANLZIARE 2,072
(@RIF= 5=\ 70,000 * 102t A 700
OxUsEsz=EAX 26,0003 * 282 A 52
O&H 220,000& * 3JH * 2CH 1,320
ORQUNALZIN A2 E 2,348
ORoloaALZzI/& Xl 50,000& * 10t A 500
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O&EH 220,000& = 6H 1,320
OEEY 132,000& » 4N E 528
301 LEtE A= 127,390 69,677 57,713
05 SE -0 -EHEEES28E 119,670 62,257 57,413
os&E+% 111,520
oJlzs 200,000& 349 » 128 81,600
O&a0=Z 81,600,000& * 1/12 = 100% * 23| 13,600
Oslolga+g
20,0003 = 34% = 23 = 12& 16,320
ot ¢ 25,0003 = 163" « 23| 8,150
09 SALAHIEA S 4,300 4,000 300
24E HAFE AU 4,300,000 4,300
11IIEIEA S 3,420 3,420 0
ONELAALSSALA &Sl 3,420,000 3,420
405 XtAtE SHI 16,470 1,000 15,470
01 HAtH ESFH S 16,470 1,000 15,470
Ol (Zet) 1,000,000& * 1CH 1,000
O0IsSANE 200,000& = 2K 400
oA ZAMN 2,300,000& = 1X 2,300
OC X EIt0l 2t 500,000& = 1H 500
O&EXE 2 A 2,000,000& * 1CH 2,000
OEA & JRH(HsHH 32 8) 4,720
oAl &t 100,000& * 2574 2,500
oA ot 37,000& * 60H 2,220
O U (HAIS) 300,000& = 2K 600
ORS=E(dsSEHYna) 330,000& = 1504 4,950
FURXNEEH 29 22,240 11,824 10,416
201 LBH2Z| 22,240 9,080 13,160
01 At 2t 2l 19,760 8,600 11,160
O XXNHH=2Y JI=&EHI 2,600,000 2,600
OdSE2 WA 24D =2 220,000 = 1204 2,640
OFQUXXAASAEFTN =&
20,000& = 23% = 123 5,520
OFQUXXZZOH 2AxE 9,000
OFURXNUEH2E LM 9,000
-N Ol A 15,000 * 20AI2F = 10& 3,000
-dESE WA 15,000 = 20AI2t = 103 3,000
ST MEOZ 0t A
15,0003 = 20AI2t = 103 3,000
02 =224l 480 480 0
OFQTXIEH E==I SXl2c
40,0003 = 1CH ~ 123 480
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